Solubims fo fevie Pl
v Find €xa

[ a, j[w )(3_1)('4
X D4 X ypx—b

Co Limit wiglt eyt Cachn !

Dim (XY < i XS
XL (y<T)(xt3)  xDdT XTI 243 5

Jo%s

b, fin. € %34 x4 - 3
XD 3 xR Lim € X
LX+XHS X220 3

(note! e b Yt nundle)
’Z,X3+2X+*6 @ @uo#ﬂr\/(" nvﬁ

2., 3 L£1x)=
X =1
ey =(eF s — e
(=)
L, fwie (xa)dn () Pl A
{(/y ) = 2K ﬂ/h[ylz) + oczu)[ﬁh/x?.//]/ Clgin R

— 2% Bk +Q<’L+U_X$;__/_ [x51)’

= @/ﬁ/} E L xS
X~/




X sX- 4

C, Py @+ —2x° = o 3% F-2x’
"x
XS 2yl _3
»F/(X): € (Sx*)+ tjz)rgx < ral
K -3
- P Iox 3R s
%( F/K): X-(—@_X
( -X
. )= 1-€ | \
- 5 e F=1 D L = n <%=
fly) = (7€ = e*

ef=y =D D 0‘\'7 %J\/ZZA

. o (/)-l
X< 0 Sey x= -1 \D . ‘-_-\-—\éko N
x>0 5 X i
w“'___f,,}_j——
O
‘p ;V‘M/’:g M [0100)
{' CéQMw*(y b~ ['7010)

@)): (())/) /S re/‘ /Mm@

| | y i
o £ = (t—e"‘)/= —(eF)/= ~(-e*) =€ >0 M x




(
- / (vcses v
gty iee

3 fura=x=2x

( -
Qo b= dm LOeb) =) g resh )= 2l - 72

h-0o = h9y L
—= ,pt\w\ %41%‘4%—%1_%-7_14 \/(A-I-}/X
h>o0 / G 7
h
— fim 2xh A hE-Rh )/(u-l*“)
h-Dv h h—- o y{

= Q. 2x-, 1l ={2)<-2)
h>0

13, S’LW I = fl[l_)t 2.4-2=0
@ 7C[l): |—2 =~

\9 +| = W (x=1) =D

2x*Cxy 1o =y

A

bx -5y —sxp’rr94' =0

2
%/[2;/—9(): Sy-6x°* = 7/? 59-6X —6X
1y ~S$X



( RN <[00 x —0, 2 X+

. R'txi= (60~ 2.(0.2yx = (00 -0O4x <0
(Tiding cubed velea) 04 x =gV

K= 100 = 250,
O Y
([/’l(;z TZ”-—

- \(Ql('/

Yo MZ s Cmeans Dy~
= R e i meaimen— A@:Z@j

L. Mer . fowtews <= R(250)= [0D-250-0.2(20)%

——
P

7.6 000 - 0,248 00

= 'LS’)’U‘U’U.. /Z/S‘(ﬂ)

- ([’L,g’m)s
c. Mask waimze L) o [wem/J O < X< wo.
Tle d»»g guhed vela s x= 2wk is st Ja
4l (n{-ewﬁp) o He . mus+ 0CC it ew%i

Sine Rior=o, R(zo0) = [0D+ 200 = 0,2 (260) "

s

= 2. 0000 ~0.2:%0000

- Z/O)Jvo'“ 2107/7) = }Zlﬂfv

0 (Loo wnib i Ll magimi 2e 'IZ@




— /O/X_’j\ f‘q_l(:L \Z
S | -2 {
oLy e e (¥ AR =62 -/]
2 R
/ o= ks cubshihfe U= 5 Xt7
“ SYet7 d(}t_z S‘D(X
d = = e
g, L
Ly -2 [ L ds

n ) s o
C
=2 faulv C = —%%\”Ml*
- %

X . U= ~xVa
Cl f7X$€ Oﬂ/)( . fulﬁ}ﬂh/t- (/lm: _qxgdf

“ x’dx = *—‘:? du
S 4 € (-{;)du = ~f€“fiu

= —elac

~ ¥y
- “e +C




Y= (AR Sty
X= O ‘4‘-“1
)/‘:,U;Y:L’

TMLMSQ—J"N"" 07 Dl\“ (_,\(\ 3
«  /
2x-—d =X N

2 x =X
-z x =Y

, ’L’Sl
—z :X",X.
%M«:f‘)zxxéﬂﬂ 5
=/ 1



9 PlA)~ [(y0— B2 +O34
Fohous g vobe of P fim dzo b A20
. lo (0
7= 7 ?/a‘//ff/—%f/w,@‘u o5 d#
o O

/o
=L [ j00A-0.2 £ N 7&3>
‘v 2 =

(4
= £ ( [k - OdA 4002>) \;

=) [6D- (0~ o010 + ()J‘(OBJ
(O

f;’;( [, 600 - lo + /00>

1090
/ O

= [ [O1

—

/O, Clix)y= 6x+bo | ﬁ’/x) - /80— X

G. FEursk wx bind Coand

Cloy = [clardy = [xsto des Gx® Lbox +C = IX H60¥HC
2
Clioy= [,000% 310 + 60- (0 +C
Lo = Qoo +c = Cc=/lov
AR
Clx 1= IX"+b0% 4 (00



ﬁhﬂ:fﬁ’(w/g‘ = f/w—zydb,‘ = /80%x~-X +C
RioY=0 =C [ ¥=0 = repgus s 2ew) .
R[X\: /57077 "XZ.

Pixy = Rix)— Cx) = /[90x—x"=(3x" +60x+(00)

@? /20 % —‘/x@

b. Fid ol wjuz

Plix 1= J2o—-8x =0

Ix= 120

X= 129 = /5,
&

_ . D,
Sthee  Plpy = =8 <0 , P tman donit e
hes 4 it A (x=£)

c.  Pus)= [20.is-y4.q5)S—{0

— /0 0 - 900 — 1.,

- g0} petit



